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The question paper comprises tweo sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one mark questions. These are
to be answered in one word or in ene sentence.

Question numbers 4 to 6 in Section A are two marks questions. These are
to be answered in about 30 words each.
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Question numbers 7 to 18 in Section A are three marks questions. These
are to be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a« one mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are fwo marks questions based on
practical skills. These are to be answered in brief.
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SECTION A
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Name the process by which unsaturated fats are changed to saturated
fats.
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Name the causative agent of the disease “Kala-azar” and its mode of
asexual reproduction.
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The following organisms form a food chain. Which of these will have the

highest concentration of non-biodegradable chemicals ? Name the
phenomenon associated with it.

Insects, Hawk, Grass, Snake, Frog.

AR fenfentd w4 wdia g4 § 2 T8 HT |

Why do stars appear to twinkle ? Explain.
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What is meant by three types of ‘R’ (3-R’s) to save the environment ?
Explain with examples how would you foliow the 3-R’s in your school to
gave the environment,
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List four advantages of water stored in the ground as “ground water”.
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Write the molecular formula of the following compounds and draw their
electron-dot structures :

(1) Ethane

(1) Ethene

(ili)  Ethyne
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What is meant by functional group in carbon compounds 7 Write in

tabular form the structural formula and the functional group present in
the following compounds :

{i) Ethanol
(11) Ethanote acid
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Write the main aim of classifying elements. Name the basic property of
elements used in the development of Modern Periodic Table. State the
Modern Periodic Law. On which side (part) of the Modern Periodic Table
do you find metals, metalloids and non-metals ?
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The atomic number of an element ‘X’ is 20.

() Determine the position of the element ‘X’ in the periodic table.

(i) Write the formula of the compound formed when X
reacts/combines with another element Y’ (atomic number 8).

(iit}y What would be the nature (acidic or basic) of the compound
formed 7 Justify your answer.

IAtes S 3 Afiier T F i w w@ = foflan | SR s e
Al AYAT JFAMF T FH Gt ofwhs d @ frmes g st wftsfisr it
IAGEaa & SNETHa 3R ifter STed WA B THa B 2 oud I HI gy
i

Write one main difference between asexual and sexual mode of
reproduction. Which species is likely to have comparatively better
chances of survival — the omne reproducing asexually or the one
reproducing sexually ? Justify your answer.
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Explain the process of regeneration in Planaria. How is this process
different from reproduction ?
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What is placenta 7 Explain its function in humans.
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“It is a matter of chance whether a couple will have a male or a female
child.” Justify this statement by drawing a flow chart.

5




15.

16.

17.

18.

19.

317211

“Tar Ty B TR I TR0 FEEE 9 F I W w6 T & 9 |7 39 HUd
4fe Th 39 IETETT ¢ HIT |

“It is possible that a trait is inherited but may not be expressed.” Give a
suitable example to justify this statement.
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Draw a ray diagram to show the path of the reflected ray in each of the
following cases. A ray of light incident on a convex mirror

(a)  strikes at its pole making an angle 0 from the principal axis.

{b)  is directed towards its principal focus.

(c) 1s parallel to its principal axis.
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What is meant by advance sunrise and delayed sunset ? Draw a labelled
diagram to explain these phenomena.
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What is ozone ? How and where is it formed in the atmosphere ? Explain
how does it affect an ecosystem.
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Elements forming ionic compounds attain noble gas electronic
configuration by either gaining or losing electrons from their valence
shells. Explain giving reason why carbon cannot attain such a
configuration in this manner to form its compounds. Name the type of
bonds formed in ionic compounds and in the compounds formed by

carbon. Also explain with reason why carbon compounds are generally
poor conductors of electricity.
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(a) Identify A, B, C and D in the given diagram and write their names.

(b) ~ What is pollination ? Explain its significance.

(e Explain the process of fertilisation in flowers. Name the parts of
the flower that develop after fertilisation into

(1) seed,
(i)  fruit.
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What is speciation ? List four factors that could lead to speciation. Which
of these cannot be a major factor in the speciation of a self-pollinating
plant species ? Explain.
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A student has focused the image of a candle flame on a white screen
using a concave mirror. The situation is as given below :

Length of the flame = 1-5 em
Focal length of the mirror = 12 em
Distance of flame from the mirror = 18 cm
If the flame is perpendicular to the principal axis of the mirror, then
calculate the following :
(a) Dstance of the image from the mirror
(b}  Length of the image
If the distance between the mirror and the flame is reduced to 10 cm,

then what would be observed on the screen ? Draw ray diagram to justify
your answer for this situation.
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What is meant by the power of a lens ? What is its 8.I. unit ? Name the
type of lens whose power is positive.

The image of an object formed by a lens is real, inverted and of the same
size as the object. If the image is at a distance of 40 cm from the lens,
what is the nature and power of the lens ? Draw ray diagram to justify
your answer.
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State the function of each of the following parts of the human eye :

(1) Cornea

(ii)  Iris

(iii) Pupil

{iv) Retina

Millions of people of the developing countries are suffering from corneal
blindness. This disease can be cured by replacing the defective cornea
with the cornea of a donated eye. Your school has organised a campaign
in the school and its neighbourhood in order to create awareness about
this fact and motivate people to donate their eyes after death. How can
you along with your classmates contribute in this noble cause ? State the
objectives of organising such campaigns in schools.
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A student puts a drop of acetic acid first on a blue litmus paper and then
on a red litmus paper. He would observe that

(A)  the red litmus paper turns colourless and there is no change in the
blue litmus paper.

(B)  the red litmus paper turns blue and the blue litmus paper turns
red.

(C}  there is no change in the red litmus paper and the blue litmus
paper turns red.

(D)  there is no change in the blue litmus paper and the red litmus
paper turns biue,
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While studying saponification reactions, the following comments were
noted down by the students :

(D Soap 1s a salt of fatty acids.

(I The reaction mixture is basic in nature.

(III) In this reaction heat is absorbed.

(IV) This reaction is not a neutralisation reaction.
Which of these are the correct comments ?

(A) IandIIl only

(B) I, Il andIII

(C) ILIII and IV

(DY TandIlonly

H3 B YR @Al [ I, I 3 IV H, 9% § 4 mL Agd 9 ookt 34
<R | T - gl 18 NaCl, Weaeft I T CaCly, 7@t [11H MgCl,
3R yr@He IV 8§ KC1 &l 99 A1 ©iedl @ | 38 939rg 98 Yeds qiEl |
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o wrgafer o swwgg s s 2 1
(A) Ia0

(B) 119 [T

() 18IV

(D) TIIIa IV

A student takes 4 mL of distilled water in each of four test tubes I, 11, IIT
and 1V, and then dissolves an equal amount of four different salts namely
NaCl in I, CaCl, in II, MgCl, in IIT and KCl in IV. He then adds 8 drops
of the given soap solution to each test tube and shakes the contents of the
test tube 10 times. In which test tubes will enough lather (foam) be
formed ?

(A) TandII
(B) Il and III
(C) TandIV

D TIMand IV
11 P.T.C.
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(A)  IILIIV,II

(B) LIV, I1II

(©) IIL LI, IV
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A student is asked to study the different parts of an embryo of pea seeds.
Given below are the essential steps for the experiment :

(I)  Soak the pea seeds in plain water and keep them overnight.
(II)  Cut open the soaked seed and observe its different parts.
(III) Take some pea seeds in a petri dish.

{TV) Drain the excess water. Cover the seeds with a wet cotton cloth
and leave them as it is for a day.

The correct sequence of these steps is

(A IIL I, IV, II

By IIL IV, I II

(C)y ILLILIV

(D) NLILI IV

Rt e O, o w faftm ot & onme w U@l F FHEN %
AleAiA<TEE/ R 1 0T HIW T | GG F GTEE BEI A GHSTd GLERA
&+ Frafefiga gqg se | o6 w1 ) 9fw

(A) vt qen foaesh & wg

(B) M N IHEE &
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In a class, students were asked to observe the models/slides/pictures of
the skeletons of forelimbs and wings of different organisms. After the
observations the students made the following groups of homologous
structures. Select the correct group :

(A)  Wings of a bird and a butterfly

(B) Wings of a pigeon and a bat

(C)  Wings of a butterfly and a bat

(D) Forelimbs of a cow, a duck and a lizard

et BT 3 STEad UV g AN % gy R T @ Amed) S saren %
Hen sfafea v o oy Fear | fvgs 3 g f) weE @@ w1 ek sifve
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A student obtained on a screen the sharp image of a candle flame placed
at the farther end of laboratory table using a concave mirror. For getting
better value of focal length of the mirror, the teacher suggested to him to
focus the sun. What should the student do ?

(A}  Should move the mirror away from the screen.

(B) Should move the mirror towards the screen.

(C)  Should move the mirror and screen both towards the sun.

(D) Should move only the screen towards the sun.

Iad oq i wrEE gl Faif@ s e wm ofw g el g
yfafers ud W wikfad $0 & W™ w@ 2 | QW a1 Ten a8 Siafrs,
for & @rag g1 &1 A0 ?

(A)  diem 3R 5ga Ster

(B) diar N =&

© e SR g

(D) I R 9 S
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While determining the focal length of a convex lens, you try to focus the
image of a distant object formed by the lens on the screen. The image
formed on the screen, as compared to the object, should be

(A)  erect and highly diminished
(B)  erect and enlarged

(C) inverted and enlarged
(D)  inverted and highly diminished
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(A) (B) ©) (D}

Which of the following is the best experimental set-up out of the four
shown for tracing the path of a ray of light passing through a rectangular
glass slab ?

31/2/1 14
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In which of the following four diagrams is the correct path of a ray of
light passing through a glass prism shown ?

A A

15 P.T.O.
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A student is studying the properties of acetic acid. List two physical
properties of acetic acid he observes. What happens when he adds a pinch
of sodium hydrogen carbonate to this acid ? Write any two observations.

w15 8 e F gFpod g ifie S F fafim s B e e 8§
Hemesl gR1 4@ 61 & | 9% Wise A | F 4O ¢ 34 NG Wiawt ()
LR

A student is viewing under a microscope a permanent slide showing
various stages of asexual reproduction by budding in yeast. Draw
diagrams of what he sees (in proper sequence).

I BH 8:0 em T Tt 20 om WiwH g % Frelt Iaa W F geg oW
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A student places a 8-0 cm tall ohject perpendicular to the principal axis of
a convex lens of facal length 20 cm. The distance of the object from the
lens is 30 cm. He obtains a sharp image of the object on a screen placed
on the other side of the lens. What will be the nature (inverted, erect,
magniifled, diminished) of the image he obtains on a screen ? Draw ray
diagram to justify your answer.
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